12a4148 (K12a1148)

(j\x\/\_\/\ Linearized knot diagam

\1 5\)/6 Solving Sequence

A knot diagranﬂ Cl2 €4 Ci Ci1 C Cip Cr Cg €3
Ideals for irreducible component#ﬂ)f Xpar

I = (W +u® + .+ 3u? + 1)

* 1 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI = (u%®4+u?® +...+3u?+1)

(i) Arc colorings

o= (1)

ag —

wl —3ut +2u?+1
ub — 2ut + u?
—ud 4+ 4u” — 5ud + 3u
—u® 4+3u" —3ud +u
wl? — 500 + 948 — 4ub — 6ut + 5u? + 1
wl? — 4410 + 6u® — 2u8 — 3ut + 2u?
w?t —8ul? + - —4ud + 3u
—u? 4+ 9u o 4ud
(u31 — 120 4 .- 4+ 32u° + 16u3)

ag —

asz = wdt — 11w + -+ 4ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u33 — 48u3! + 4130 + 260u?® — 44u?8 — 804u>" + 216u>® +
1444u2® — 592u?* — 1136123 + 892u?2 — 948u?! — 420u2" + 3268u'® — 948u!® —
2672u!” + 1812u'6 — 804u'® — 808u!* 4 2816u'3 — 896u'? — 1200u'! + 1080u!° —
816u” — 56u® + 680u” — 352u’ + 80u® + 64u* — 112u® + 48u? — 12u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C6, €7 uwt —3uP® o —12u+ 1
€10, C11
C2,C3,Cs W — P 341
C4,C5,C12 w4+ ud 4+ 3ut 41
Co u®® + 3u® 4 - — 106u — 187




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
Cc1,Cq,C7 y36+49y35+._._54y+1
€10, C11
Ca,C3,C8 y?0 —35y%° + ... 46y + 1
C4,C5,C12 y36—27y35+--~+6y+1
Co y*® — 23y + ... — 458166y + 34969




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

u = 0.015238 4 0.9412161

—18.6813 — 5.76651

5.67878 + 2.821031

uw= 0.015238 — 0.9412161

—18.6813 + 5.76651

5.67878 — 2.821031

u = —0.006373 4 0.9330671

14.2459 + 2.33101

2.48067 — 2.820151

u = —0.006373 — 0.9330671

14.2459 — 2.33101

2.48067 + 2.820151

u= 0.922444

3.24298

1.81830

u = —1.15188

—2.33631

—1.84880

1.159790 + 0.3566551

6.79135 4 0.546421

2.47249 4 0.255911

= 1.159790 — 0.3566551

6.79135 — 0.546421

2.47249 — 0.255911

—1.189470 + 0.3027521

0.62502 + 1.836071

—1.241747 — 0.1245191

—1.189470 — 0.3027521

0.62502 — 1.836071

—1.241747 + 0.1245191

= 0.076636 + 0.7600031

10.05780 — 4.592511

5.76656 + 3.956941

0.076636 — 0.7600031

10.05780 + 4.592511

5.76656 — 3.956941

1.243450 + 0.0960731

—4.28530 — 2.089131

—10.75982 4 5.466111

u
u
u
u
u
u
u
u

= 1.243450 — 0.0960731

4.28530 4 2.089131

—10.75982 — 5.466111

u = —1.26918

—1.54627

—6.99460

—1.287770 + 0.4576881

10.26840 + 2.627531

—6 —0.715837 + 0.101

—1.287770 — 0.4576881

10.26840 — 2.627531

—6 —0.715837 + 0.101

1.297400 + 0.4533001

10.19290 — 7.276141

—0.92056 + 5.709111

1.297400 — 0.4533001

10.19290 + 7.276141

—0.92056 — 5.709111

u = —1.270690 + 0.1546461 0.15355 4 4.665581 —3.82180 — 6.538751
u = —1.270690 — 0.1546461 0.15355 — 4.665581 —3.82180 + 6.538751
u = 1.247480 + 0.3022881 0.14493 — 5.480661 —3.17694 + 7.522481
u = 1.247480 — 0.302288] 0.14493 + 5.480661 —3.17694 — 7.522481
u = —0.039504 4 0.7097701 4.09074 + 1.836711 2.53145 — 4.211121
u = —0.039504 — 0.7097701 4.09074 — 1.836711 2.53145 +4.211121
u = —1.276970 + 0.3265081 5.86790 + 8.484011 0.72483 — 6.942071
u = —1.276970 — 0.3265081 5.86790 — 8.484011 0.72483 + 6.942071
U 1.284000 + 0.4675391 16.8633 + 0.74821 2.56178 4+ 0.1

u = 1.284000 — 0.4675391 16.8633 — 0.74821 2.56178 - 0.1

U

U

U

U

U

—1.306430 4+ 0.4560241

16.6842 + 10.74921

2.30008 — 5.640571




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —1.306430 — 0.4560241

16.6842 — 10.74921

2.30008 + 5.640571

u = 0.238535 + 0.4699591

4.68915 — 2.522731

3.50908 + 6.03596.1

u = 0.238535 — 0.4699591

4.68915 + 2.522731

3.50908 — 6.035961

u = 0.506828

3.35647

—1.00240

u = —0.189419 + 0.2785411

—0.110112 4 0.7542211

—3.37527 — 9.181021

u = —0.189419 — 0.2785411

—0.110112 — 0.7542211

—3.37527 4+ 9.181021




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Ce,C7 u36—3u35+~--—12u+1
€10, €11
Co,C3,C8 w3 — w3041
C4,C5,C12 U36+U35+"’+3U2+1
Co u?® + 3u® 4 -+ — 106u — 187




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, Ce, C7 Y30 44935 4. — B4y + 1
€10, €11
C2,C3,C8 Y20 =35y + -+ 6y + 1
C4,C5,C12 y36727y35++6y+1
Co y30 — 23y3° + ... — 458166y + 34969




